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(et aredh

A ¥ foord Ford 2o T o 1ol HEWTS o WER WA & 51l f9Y =Té! Tl < R
TN | Uget hl SETee hi foRiydr 8 7
et

Which Harappan site located in India includes deposits of Hakra Ware that is typical of
settlement dating back before the early phases of Indus Valley Civilisation ?

Rakhi Garhi

T 5T 2 b Tiiaw Rrgred (faw 9¢) 7 sifam srgfa & fore siermen 99 @ vse 98 9@
T Frfeiiaa o @ fore wm W afamdrgee e foram e 2

gl T
Gautama Siddhartha (Gautama Buddha) is believed to have piously meditated at which

among the following places for six years before he went to Bodhgaya for the final
realization ?

Dungeshwari Cave

frfoifiad § @ M € gasH 6l gge Torer off ?

YR
Which among the following was the first capital of Harshavardhana ?

Thanesar
IHIAMI R TS Teha o TRIEH, T, T, T (3T 3R 36eh AW o e
T FEfa 8 o 31me Stepert o A o ST ST € |

LicsHy

volume of Akbar Nama deals with Akbar’s administration, household, army,
revenue and the geography of his empire that is known as Ain-i Akbari.

Third

1851 H, TR St AAls Sotarstt A FHHfciiad | § fohg T 1 avi “Teh = i s e gAn g
7 fifeh” Sh&q H foham o 7

HAqY
In 1851, the Governor General Lord Dalhousie described which of the following

kingdom as “A cherry that will drop into our mouth one day” ?
Awadh
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6. YRAT UK TSI o SR ShilH AT = el ST e 7
When Congress ministries resigned during the Indian National Movement ?
1939

7. 1942 ¥ foeeq afRiar gro mefish 3R 0" & 91 9ueial s 1 YIH i & foe feg
T ST T7T T ?

WRWE fFm

Who was sent to India in order to try and forge a compromise with Gandhiji and the
Congress by Winston Churchill in 1942 ?

Sir Stafford Cripps

8. [N g &G 7 1944 T TSN H SETT (INA) &5 & AT | 98 Vgl 319 Feferfiga o
T fopg T /Shganféa yew d fRm 2 7
Subhash Chadra Bose hoisted the INA flag at Moirang in 1944. In which of the

following states/UTs that town is located now ?
Manipur

9. Trafafga § @ s ot 7 Wfagriies w9 9 wales o efaor ° seare 9 & &9 1 S STt
ot ?
EEIC ]

Which of the following rivers was historically known as the Bantwal River in the
south of Karnataka ?

Netravati River

10. 9 o =Tgd 9 76 GefiwT i deblelF gehl Ay | Jieer afas Tt e
FATC T 61 AT & ST | 38 "=y i fforfaa o @ fovg am & oft S Srar e 2
3N

Indian Muslims were keen that the Khalifa be allowed to retain control over Muslim
sacred places in the erstwhile Turkish Empire. This empire was also known by which of
the following name ?

Ottoman

11. YR TE S (IN.C.) 3R 37Raer are gfeem ofim (A.LM.L.) 3 ufig *
TTEH T SUSI o RIelTh W o oY o 70 Ush T1Y AT T HEAT o |

TGS U, 1916

The Indian National Congress (I.N.C.) and the All India Muslim League (A.I.LM.L)
decided to come together for the cause of India’s struggle against the British through
the famous

The Lucknow Pact, 1916
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12. B TIHI WS, T W o 1< HSRX IgMI shl Tl o i< 97 Brl & | 36 fohg 9 &

ST AT R ?
At some places ground water is stored between layers of hard rock below the water
table. This is known by which name ?
Aquifer
13. Tirem ifRR Wi = fFefefaa 0 @ form U= /sheanfad Tew # a8 7
IWEE
Milam glacier is located in which of the following states/UTs of India ?
Uttarakhand

14. T=fafaa @ @ st 9ean wRa 6 g0T TETh (CBH ) §, AU 98 URd 6 6

gonTet <t formet st & 7

HITHIATEI-TTHTA (et STt TeiRetl)
Which of the following institutions, is India’s time keeper, i.e, it monitors India’s
system of time ?

CSIR-NPL (CSIR-National Physical Laboratory)

15. YT o1 YR AL Togd o1 Gag O] STETE] SToi e 7, TorEeh! SHEwan gcd foha T &

?

83 =afary wfer fopeii
The Thar Desert of India is the most densely populated desert in the world with what
population density ?

83 people per km?

16. ¥8 gHfTad & & fow o Sfiuedt &1 oy Sudieisti 0 T8l ST, TR 5 T
ATHTER-Teft Frferspeer (Fet U2t mitkfeatar smenfd) <t e &, a1 fegsg,
2022 | gt Shugdt gamera-eht (@@ nitkfeaton) Rerrrat &1 Faer fora d@mea gra
fpasmar g 7

Hiftamg (e gfaeaat )
To ensure that the benefits of GST are passed on to the consumers, the government
established the National Anti-Profiteering Authority (NAA) but from 1% December,
2022 all GST anti-profiteering complaints are dealt by which organisation ?
CCI (Competition Commission of India)
17. B wifd s el d HYV o9 = 2, g “swenit 9 i warSmare

I 39S A1t for (378 e )

With reference to Green Revolution what is HYV Seeds, which are also called as
“Miracle Seeds” ?
High Yield Variety
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18.

TSI S JEYH TR (NIBM) Sl TI9AT 1969 T FforRaa d & foroeh gRI, Wi 3R
o WY |, S JEeT H 3He™, Tfdteor, e 3 qumst o fow v e sfiv geeH %
UG HIE o 7

o o 3T sfea (RBI)
National Institute of Bank Management (NIBM) was established in 1969 by which of

the following, in consultation with the Government of India, as an autonomous apex
institution for research, training, education and consultancy in bank management ?

Reserve Bank of India (RBI)

19.

1< daraia Fer bl sraf am oft ¢

What was the period of 11" Five Year Plan ?
2007-2012

20.

Fraforfaa @ @ s @1 1991 ¥ 78 31fdies Fifa (Tgdh) & d8d TS TUTIISH HTisRal
1 e g1 o1 ?

WA TG T THTISH
Which of the following was not a part of the structural adjustment programs under the
New Economic Policy (NEP) in 1991 ?

Balance of Payment Adjustment

21.

13 feaar, 1946 o1 Gfaa™ a9 “ILw T4 (Tssifaed FdiegeH)” freh gra ae1 foran
TR T 7

EEIRGINERS

“Objective Resolution” was introduced in the Constituent Assembly on 13 December,
1946 by whom ?

Jawaharlal Nehru

22,

ore 3TT<Rg o TEd JTITAhIA o G HifeTeh TfeRhRT @l oft Frctfera foram ST aehaT 8 7
ITTE 359

The Fundamental Rights can also be suspended during the Emergency under which
article ?

Article 359

23.

forfesr wummE Ta AheHTes gRI SFRT TR AvETRe YR fefefiea d & ferment
giome o1 ?

ot Mo g

The Communal Award coined by the British Prime Minister Ramsay MacDonald was
the result of which of the following ?

2"4 Round Table Conference
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24. AR TIIET 1 I HT SFSE GEITHT o el bl TRATT HLAT § ?
IFE 167
Which Article of the Indian Constitution defines the duties of the Chief Minister ?
Article 167
25.  ‘“AArehe 3TN forepe % foTu vt U1 SRrHi o JTegR WX Ueh STALROT U dIR 3 b foTq
o e 1 Pt Foen T o 7
.. Rt afufa
Which committee was appointed to prepare a concept paper on ‘Revitalization of
Panchayati Raj Institutions for Democracy and Development’ ?
L. M. Singhvi Committee
26. ¥iH & feadll (cans) W e % T W f=foiiad 59 e ag sl o S s g 2
f=m
Food cans are coated with which of the following metals instead of zinc ?
Tin
27. 3T % UTH fohH TR o1 TeIeh Gl 918X Bie § CO, feherar g 2
e STEhTEine
By releasing excessive dry powder of which chemical near the fire gives off CO, ?
Sodium Bicarbonate
28. wReMie ffefaa o & fore fagia/fem W srl a8 2
st =1 frgia
Lactometer works on which of the following principles/laws ?
Archimedes’ Principle
29. TEARRE IF AR HTHTSA (CFL) § Ffefea o & fohg a1g =61 a7 g & 51 S9bfd 8
foden BT g ?
qra
Fluorescent tubes and CFLs contain vapour of which of the following metals that is
toxic in nature ?
Mercury
30. fepmEHHIct 1 3w ffeaa o @ fope w1om o forw fpam ST ® 2
ThA™
Sphygmomanometer is used to measure which of the following ?
Blood Pressure
31, (-27) x (=16) + (-27) x (-14) HTAF &

The value of (-27) x (—=16) + (-27) x (-14) 1s
810
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32. <t e <t hima T 25% i 9fg g8 2 | T TRE i <t ©ff Y @ud fehad gfaerd H e
Tfgrafs e A @E T ?

The price of Desi Ghee has increased by 25%. By what percent should a family reduce
the consumption of Desi Ghee so as not to increase the expenditure in this account ?

20%

33. Tafafaa g & ((341)%1 x (625)317 x (6374)1793} & TGS B 3T 37 DH AT ?
Which of the following is the unit digit in the product of {(341)®! x (625)°!7 x
(6374)1793y 2

0

34, Ffe 12422432+ ... +102=385, 32462+92+ .. +30> UL 2

If 12+ 22+ 3%+ .....+ 102 =385, then 3%+ 62+ 92+ ..... + 302 is equal to
3465

35. e (0.04)% + (0.008) x (0.2)6 = (0.2)Y, &l Y 31l i |
If (0.04)% = (0.008) x (0.2)6 = (0.2)Y, then find Y.

7
36. I e 1 wi-fo=ae ==a Fifs |
3ftfem + 5w
37. TfaRad § & fore faeen § ) vreg TR T61 8 7
Tsfiy, nermE, arR
38, formforiiga o @ ferm forred 3§ wrsg yferem fireefen o1 @l 1ei-We T B 2
WSS JH aref-9g

(B) afer - omeft T - fRran

39. Tl T ST HRAT GETE 1 T8t 1 e A g A an g 2
Tgaa & |

40. “HRAT 37T TR Hid H1ITE R ?
ARG Tgagt

41. Fill in the blank with correct preposition :
I have never looked on a face that was so devoid feeling.
of
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42. Give synonym of underlined word :
He sat there disparaging about the legal system.
Criticizing

43. Give one word for :
The original inhabitants of a country.
Aborigines

Read the following paragraph and answer the following questions : (Q. 44 and 45)

In the United States someone legally becomes an adult when they turn 18 years old. At
18, U.S. citizens can vote. They can also serve in the military and go fight in wars for the
country. An 18-year old can also buy cigarettes and other tobacco products, but 18-year-olds
cannot buy alcoholic beverages. People in the U.S. need to wait until they are 21 to be able to
do that.

At the age of 18, people can legally live on their own, work, and get married. However,
turning 18 doesn’t mean everyone is ready to take on adult responsibilities. At the age of 18,
most people are just graduating from high school. Many will go to college. Some young
people choose to go to college far from their homes and live in dormitories. Others pick a
college close to home and stay with their parents to save money. Yet others will choose to
live on their own. Legally, a parent does not have to provide for their child when the child
turns 18.

44. In U.S., what is the minimum age required to join military ?
18

45. Which is correct from the followings with reference to U.S. ?
Children may live with their parents even after 18.

46. e weqt ohl TeaarTll 3 SHER e fora Sy sifow & gat w™ W e ¢
If the words are arranged according to the dictionary, what will come in the second
place from the last ?
1. Spastically 2. Spasmatic
3. Spasticity 4. Spastic
5. Spasmodical
Spastically

47. e b1 T Ufh U, Teft ST 3T 7@ fohu gu E, P1 o1 BR T 99 TIH W § 3T P2 g8 BR
Y 126 ®A W g | P1 3R P2 % o= i AR E | P1 3TR P3, P4 § &AM g0 W& | T il 76
ek o Shee § |

T 1 foram st wepar

In a row of Pigeons, all are facing north, P1 is 9" from the left end and P2 is 12 from
the right end. There are three peacocks between P1 and P2. P1 and P3 are equidistant to
P4. Find how many Pigeons are there in the row.

Can’t be determined

7 NP1_1437



https://latestgvtjobs.com/

https.//latestgvt] obs.com/

48.

T HS W H, PERMUTATION %I IBKFRMXMFLG fof@r S g | 39 91 §
PUBLICSECTOR ! %8 forarn e

In a code language, PERMUTATION is written as IBKFRMXMFLG. How will
PUBLICSECTOR be written as in that language ?

IRUEFVLBVMLK

49.

T TS GuE 8 Sl He I A & | TSl 24 H H 10 T W 9 I @ | 99 gE T v
QTS 1 Sl 1 G0 SdTdl & o Iredicieh oI =1 I 7
12 ST 48 TirFe

A clock is set right at 8 a.m. The clock gains 10 minutes in 24 hours. What will be the
true time when the clock indicates 1 p.m. on the following day ?

48 min. past 12

50.

U9 H @l Y 1 3R 11 feu 7u g | 3 e A1 O Wds RO Bl Hehd & AT Sdd SO A1
TTHTY 10T < TS &1 Tohd & | T8 8 Toh U GEX He 1 THTE &l Hehdll & | QT eI
=1 I 3R v o fop Fafeifaa § @ =619 a1 ST faehed 39 SF1 AT & o9 G99 =1 9&t
YR |
YA :
. TEhR A WA o Gt Afgehet shicioll § o3 & foTT Ush & gawr wiefn Sefod s 1
foola forn 2 |
II. TSI IR A 37 TS b BT bl T o HiShel shictsil ohl HIdi o [T ATded i ¥
Tk fean g |
Tt e 1 3R 11 foreft A= o & 99 £ |

In the question two statements I and II are given. These statements may be either
independent causes or may be effects of independent causes or a common cause. One
of these statements may be the effect of the other statement. Read both the statements
and decide which of the following answer choice correctly depicts the relationship
between these two statements.

Statements :

I.  The Government has decided to hold a single entrance test for admission to all the
medical colleges in India.

II. The State Government has debarred students from other States to apply for the
seats in the medical colleges in the State.

Both the statements I and II are effects of some common cause.

51.

BT &1 1, TSN oTed JTeh R BEI0T STRINT (THEHTEISTR) 3 STl ST GEAHI hi ardfeeh
o 1 fr o ety frdeqor 3 fore frefafaa o @ =9 € wefihsm fosfa g 2
Recently, National Commission for Protection of Child Rights (NCPCR) has developed which

among the following applications for Seamless Inspection for real time monitoring of the Child
Care Institutions ?

MASI

NP1_1437 8
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52.

T & 8, wra 3R fFrefafad @ & fopm <91 o A1t 3 Siota Ty neaaehia, EiehTaiTgere
3N E=g Sl W FGIN §eH R UTfeAl o JUAUHHHIE THAT & 284 99 & a1
TTOTH 9TH S % feTT fireteht s o6 < gfdsrgar Sas & 2

T 3N IHNT (ITR)

Recently, the leaders of India and which among the following countries committed to
enhance cooperation on climate ambition, decarbonization and clean energy, and work
together to have meaningful outcomes from the 28" Session of the UNFCCC
Conference of Parties ?

United Arab Emirates (UAE)

53.

9 uqgdt 2020 HHRIE o O 99 o AGE X TRNETar 3T ST bl HIE h 5
TTY-TT TR Hichfceh HTST H T[orarrqul frero Temet < dg-fasm o fofe wamssima
(NIOS) < T FHEITAT [ (MOU) T g&Ter o |

ATETHTANRE (ISLRTC)

signed MOU with NIOS to share expertise and resources, as well as co-
develop quality learning resources in Indian Sign Language on the occasion of 3™ year
of NEP 2020 celebrations.

ISLRTC

54.

frefarRea o @ forem g1e1 €1 o R o wfvtggar wifdfefaess @ ot wea S & foft NAPS
(AT 3T YHIIH =hH) § DBT (SRNEE SH{the 2EwH) di-d fhar g ?

i ig ga=
Who among the following recently launched DBT (Direct Benefit Transfer) in NAPS
(National Apprenticeship Promotion Scheme) to strengthen apprenticeship ecosystem
in India ?

Shri Dharmendra Pradhan

55.

o - fagm & Amai # gig o wru fefafed 9 9 fra ¢ 3 TP smamaee i
Yo i ?
TE

Which among the following countries declared National Emergency due to spike in
Guillain-Barre syndrome cases ?

Peru

56.

WA o FfiRaa 3§ § ford {oTdl RRI 1 Een! 1 URRr Sfifthes dieshies fotrad JEhi
firemg 2

TG 1d WIH, HERIY

Which among the following railway station from India got UNESCO’s Asia Pacific
Cultural Heritage Award ?

Byculla Railway Station, Maharashtra
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57. YN TR T 2030 dh S weord 6l TTerl 15% d deM ST e W 2 |
JTehfdeh 9
The Government of India has set target to raise the share of  in the energy mix to
15% by 2030.
Natural Gas
58. &1 & H AMieh 3ga W, ot sefofecs fferm 3 Schett gaE- 318 <l Sgued foha & ST WRd
o Fmfoifgd 5 & fohe TS9 H UDAN 31SHT o &d T &1 2953181 8 ¢
anfesm
Recently Minister of Civil Aviation, Shri Jyotiraditya Scindia has inaugurated Utkela
Airport that is a regional airport under the UDAN scheme in which of the following
states of India ?
Odisha
59. TYH T 3TN o Trafaiied 0 | ford T A 31ga e 1 “fég e #18” =nfv
fopar g 7
ISR
Which of the following states of U.S.A. has declared month of October as “Hindu
Heritage Month” ?
Georgia
60. =1 8 H Faforfgd 0 9 forg eor 3 “Oie 3R AT Uk W UdITdeh TSt aha aTed
i festred o fmior fpan 2 2
ategfera
Recently which of the following countries has designed and manufactured an
autonomous robotic undersea warfare vehicle named “Ghost Shark™ ?
Australia
61. TRy vdd SfEen ¥ fedrd Aieh i uaret feret w1 A srand f8 “<f $red A% < W ¥ M
SR |
qwon fee
Give name of the popular hill fort located in Sahyadri Mountain Range that is known as
“The Eagle’s Nest”.
Torna Fort
62. THISHT AR TEH A8 TERR YH, T3 3R a1g T A4 S o &5 H Ichy IucIedal
% foTu Tt T T 2 | 39 GEh N o ToTT e QbR U o 8 2
15
The Tenzing Norgay National Adventure Award is the highest national recognition for
outstanding achievements in the field of adventure on land, sea and air. What is the cash prize
amount for this award ?
15 Lakh

NP1_1437 10
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63.

Hifem (Teifa o ac) fem sifee & srefeme w1 aifie ga 11e it &, fefofea §
T feraeh g forar mam o 7
HHCH

Nitisara (The Elements of Polity) which contains the earlier foundational root text of
Kautilya’s Arthshastra was written by whom of the following ?

Kamandaka

64.

frfafd # @ =8 a1 i & 9 SRR Irehfie STae Siien <L foag & &9 1
AR ST R ?
13 FTHRER

Which among the following days is celebrated as the International Day for Natural Disaster Risk
Reduction every year ?

13" October

65.

HI 1 ATeT o TR Shl UTATTehIS TS h1 WU 99 TGH ohid aTell aTrer feet ¥euM Wid
o TrfeTiad # @ forg T /shgamiéd wem d a3 2

T T

Tamia Hill station that provides stunning view of the horseshoe-shaped Patalkot Valley
is situated in which of the following States/UTs of India ?

Madhya Pradesh

66.

Fratafga o @ for a9 9 wRa A 1 &Efe Trmor yrfier (Ié) s 7

India became a sectoral dialogue partner of ASEAN in which of the following years ?
1992

67.

freferfaa <um w1 3Rt Tetenft @ gafera Hifvw
(i) SIfes=  — (a) AT

(i1) T — (b) HAHI

(i) W& — (c) qHEH

(iv) S8l — (d) TermTredt

Match the following countries with their capitals :
(i) Zambia — (a) Havana

(i1) Cuba (b) Manama

(111)) Rwanda — (c) Lusaka

(iv) Bahrain (d) Kigali

(1)-(c), (iD)-(a), (iii)-(d), (iv)-(b)
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68. T ToraT 3R GooT BT TR SR T Yt e §H shi Tthe hell & | I8 WRA o FHeferiad
T fopl Tsa HI et B ?
affesm

Jhoti Chita and Muruja are white art to create beautiful patterns on the floor and walls.
It is an art form of which of the following states in India ?
Odisha

69. YT o HEM FRIUTIH F&10T 1 hTH 10 3T, 1802 1 HZTE U I[E g1 96 HGTH <RI
T eI Teh ST HTY TSR =11 o7 | SHH § HgTE ST shl fehe 10 & SIHT STl 8 2
IR @it - Hiforeh! e
The work of the Great Trigonometrical Survey of India commenced at Madras on April
10, 1802 when a baseline measurement related to the Madras longitude was made.

Currently that Madras Observatory is known by which name ?
Indian Institute of Astrophysics

70. Tr=feifaa o 9 o 91 Wid 1 98t DBOT (fesited, i, H=me 37 &maion) disd
MSTSR LETH | ?
igH gd, foearagm
Which among the following is India’s first DBOT (Design, Build, Operate and

Transfer) model outdoor stadium ?
The Sports Hub, Thiruvananthapuram

FrefaRaa e =6t Tget I8 T ST % ST R : (. 71-75)

W T i 2, o fogm, vrward 3R fifaum | 98 39 U9 < §ga Jfafsd Amie 8 | 378
Torer @ e Tof wpfd firerdt & | Tafy 9 e gem B §, auli R A eE e 8 | 3
I Y I Teh AI| 914 & Toh T TR 8 & a1t off Ife I 39 | <1 |1, df ATS-|1 AT 11 &
ST R | H o o ST g | W3 e Sl Rk ot fop < shi gann aEd g W § % %e 6 |l Y,
YT 38 &M o o1l ST A TSGR & Ieh! WebHT 781 L @1 § | 98 Teh WIsht 319U 8 | il
1 |y 1§ offsy 3 giud) w1 Wt 39 @Rt ot e wer O et TR o, 99 € 3o § 3R
T S8 $B 31 AifgcashR goft 719 & | wiosy 58 36t atg & el shan 59 yehr oty fuamg
1 &1 T foraT TR | § TSt X Ao AT BIeht AT @1 3T 7 H udeeg i Wi 3188 53T |
Tl T&T, H© HET 116, T a1 Wfersy ST 76 U | Iq9 & i S0 HLTE 8 7 B!
Toh T T WT-9 1 3o &1 8, e ufersy sweft 7 7 b | Iwehl o ot ot i &
2 | Ufg g9R 9Y dfid T 3R 319 9% =R i fudmg o emn T8 fm mn | wfesy faeee
STEIEST 2 | HToh! T &G WA gL g7l | H i 21 § | 3R fgwdt 1 foTRaarrent his HiH &1 ST &1,
al ot g3 F IBdT & ? 95 IO RS § | I a1 §, I §, Ufqwn ° §ga 3 | g9
IS SLARI g | ‘Wi e HEIGLT T T3 Tohe! Rl § o STl 181 & | ST &1 a1 o & &
gt fSeht fimcht &1 et 8 | g1 I et &1, T9ENm, g9 af 9 4 8, T @@ °, 92 Tea fieft
3 ALY |
71. ORGeh oh! T hT T SHIIT AT ?

WEh 3R b S ARSI ol Wiy Heft &1 T Ham o ISy 1 37 76 &
TRt feart T |
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72. o fUqmg i e o= Tl fohe TR 7
! <h T T ST 3 o) ShT IR AT @Rt ¥t | e foRam o |

73. i@ ! fohd Femeleiy | Teq feft ?
wEeh st T & 3R TR IrEEA §, W H, Al | 9ga 3 §ga & [T AN
W IS §, I Wiy Teh HRTgld Sig § S A1 |

74.  FTAHH, T qE H e 1 a1 37 ek At § ?
Tereft oft et 5 7 377 |

75.  ‘YcHAT ShI T I B 7
ey 3tk fow=R

FrefaRaa e =t Tget 98 T ST % ST R : (. 76-80)

TSg hael S 1 Zhel &l Tal Sfcsh AR AREhideh ORUEd Bidl & S §H 319 gasii |
T < &9 H Y Bt 7 | o g9 9 qid &, e ura € 3R 9 o g-guR 31T Usg
ATl & 3R 3Eeh! T =itk sl T st Tael i Bt 2 | W & T Ty o wns o
ST o aTel Sfa b1 o, STfd, TS A1 Ty 3 ft 7, 319 ° Wg H1 Wi 7 | U %
foru Sfiem 37 v T, IFhHT TddT AU ok o feTt i i St WiaaT Uit shaard! 2 |

IS = et gat =Afad | 9H, S, HA MG o TR T TGN LAl & 1 IHeh! 318
THad &1 It & | USERIaT bt HAE 31 8- b1 WUfiehdr, 9o € g6 @ @ fierr U |
TgTenT eft, foeTes, guTSaeg |9 31E % BRI A UdT Ietdl & b UEiar St WraT & HRer 3%
IR H I3H UL fobg 3104 Tivga ¥ seat © | Afaa o1 st srfedea wrem w@d & foe
Ui Tt TETaT Y STEsT bl Yerreht 1 HEAT Afee axt Igeht -t s w5
Gl g |

S-S9 R U % UL, dae-ad faeim 3 s R | =g Sifard YewTd &1 91 WINTa-
T SAfea SEH T 33H T 3TE9T IcT HUT | IS < H b YR o e =9cd 1 & | hal
TS =1 ekt TEY Bl 18T 2 1 hal &1 AT & o 19 Y AR bl =ehTell ST 18T & fordent gy gar
a2 | e 3 31 H et T R | horka®y TSR 1Y 1 3T IReIfRia 8 @ e |
¢ AR TSHAT 379 T1Y o ToTT TEhicl < 36 Yo Trasl ol YTToht &1 ohl ST i TTerd fE3m &,
Te-Tqe ¥ o ITCX SAFRRAT, Fe, Al T8-Ig S TTATd SIH ol 3R SEHT BIEIET 3T ST
<11 T BT |

JTATF Teh ANTES AT o &Y H gH 9 91d ol TeUs & THd g o5 Haugi ol Tl
39 HA 1 HGUANT AT =Y, T8E I 7T AR AfAT g <6 foTg Fmiorenes e g &< |
SATfer, W7o 37 e & HUR ISR 3T AT o AT | gerrferd g€ fomr &6 fershyges <1 % 3o
T 9T TEANT ST =R |
76. Afed 6l gfee wa Gpad 81 I 8 2

e Ao &, ST, et TG ol T 7S S 2 |
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77. Ueh SNT&eh AT o &9 H AN T haed & ?
o, STfer, WTST 37T o T WawgH i ATt Teh GATS 3T HHS SARE H HAA < |

78. <X H Tl It 31eh Y o TGt oh1 &1 JROTH Bidn & ?
et gor 3R frgy ¥ G | T St i 3T A S SgH A Hag et |

79. IS¢, TiGhicrh S ferrerd shaer: shia &t STehfires gehrsal & ?
g1, fermor ok &=

80. ‘IAdfaqy’ viec U fore yehR s Gfr g ?
ferert wfer

Frefefaa AT =1 1 SAMYEe ST L 3R 9 fou 1o Wi & ST e : (9. 81-85)
e ufer 1 < SIS @ E 7 | TP S hl werg o1 A 3 foudia femm o e v T
S TS H gl G Ueh GHL ol TR i H T SITet HHE i AT @ U1 (15 1) H e T g |
TS (SHIIE H) IR Forodid fe=m § AT Hd THI Th AL I TR LA H T el §0
(@hs 1) | (1 SHHRT = 10 W)

Study the following line chart carefully and answer the questions given below : (Q. 81-85)

Below the pair of five trains are given. The sum of length of each pair and the time
taken by trains in each pair to cross each other when travelling in opposite direction is given
in the line graph.

Length (in decameter) and Time (in sec.) taken to cross each other when travelling to

opposite direction. (1 decameter = 10 meter)

--@-- Time —e—Length
90

80
80
70
70 66
60
60
50
50
40
30 25
0 20 ...
BV e .
12 . 10 12
0] ® L g
0

A+B  B+C C+D DtE E+A

81. A B 3R A D gl T fewm & =mm =6t Tt & ot 37k g0 U Gl bl TR oA  foram
TR STATT T 71 hitg |
9.78 THE

Find the approximate time taken by train B and train D to cross each other if both are
travelling in opposite direction.

9.78 seconds
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82.

T A GRI 37 C ol IR oA H Tor 1 ww 311 <hifste afe o ueh & fean A amn s @i & |
86 Ths

Find the time taken by train A to pass train C if they are travelling in the same

direction.

86 seconds

83.

Ife 37 E T [fTed oeTs o wiehid i 50 Tehs T IR hid! 2 1 ¢4 D g 381 IghiH i
IR S B form man srmfaa T 3a A |
91.82 Uhe

If train E crosses a platform of certain length in 50 seconds, then find the approximate

time taken by train D to cross the same platform.

91.82 seconds

84.

T A T ¥ feoeft i amn o @ oft Safe 37 D foeeft @ gear i amn s Wi ot | 39 A,
T D% 2 B 91G Fardt & | AfG g o feeeft & 297 foprft 1 gt  firereht €, @ wem ®
feeeft % ofrar i srgaiaa gt It |

529.2 foprfi

Train A was travelling from Patna to Delhi while train D was travelling from Delhi to

Patna. Train A started after 2 hours of train D. If both trains meet at a distance of 297

km from Delhi, then find the approximate distance between Patna to Delhi.

529.2 km

8s.

ST B 3T C WIH X ¥ WIF Y 31 T gL & 414 Tormft @ 2, T Imn o @& ot | 3fe
T T B THT W EIH Y T UG a1 1A ShI9T foh ¢ C o (TTHT) fehdH 9 1€, 7 B
I I X I BT BT ?

5.96 T

Train B and train C were travelling from station X to station Y which is 414 km apart.
If both reached the station Y at the same time then find after how much time

(approximately) of train C, would train B leaved station X ?

5.96 hr
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Fretefaa urg = 1 SgEe 31eEH L 3R = fou 1oyt 6 W T : (7. 86-90)
TrfcTiaa s = v wimiforen &1 3 R shi SHERET o FIawm (% ) & S H SRR ¢t 3 :
Study the following pie chart carefully and answer the questions given below : (Q. 86-90)

The following pie chart gives the information about the distribution of population (in %) of
India in different geographical zones :

Central

20%

86. g WA & Y&t & i Hot SHaE 126.5 e g, @ IR o I & Sl oI @
T TRt 7 7 (Tuferam o)
If the total population of east zone of India is 126.5 million, then what is the

approximate total population of north zone of India ? (in million)
80.96

87. WA o I &1 <hl et ST Yol & Shl ot S5 & feha wlera w0 g ?

The total population of north zone of India is how much percentage less than that of
the east zone ?

36%

88. T H YBNI b1 HigeTI3A & U 13 : 12 7 37X h5 & T YN o1 HigeTst I UM 9 :
7% | e d & T HigeT3T <hl T WRA shi ATEeTIaTl <hl et HEAT T feheHT Hfrd & 7

In India, the ratio of males to females is 13 : 12 and in central zone, the ratio of males to

females is 9 : 7. The number of females in central zone is what percentage of the total
number of females of India ?

11

185

89. e WA ohl o1 SHEEA 125 HU &, o1 Gfaavl &R 3T Gieem &0 ohl SHEE h1 FATHA
AT (RUSH ) FE 7

If the total population of India is 125 crores, then what is the approximate sum of the
population of south zone and that of west zone in crores ?

48.75
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90. UfTam & hl ol THHEAT HT 50% TE & Sl YA H Teu1 hl ol SHEEIT b 10% ST
? 3R afe ufvew &m o afgenatt o oo swEEn 50 fufems 8, 9 wia § qeel 6 B
SEE fohat 8 7

500 faform

50% of the total population of west zone are males which is equal to 10% of the total
population of males in India and if the total population of females in west zone is 50
million, then what is the total population of males in India ?

500 million

Frefefaa aferent =ITE 1 SMYEh EEH L 3R 9 fou T 7ot &6 W e : (7. 91-95)
Frerferfian afereht Rt g g et geeht W & 78 e %% Bt quiet & | Tt g

T Tceh JEdeh T 3ifehd o TUH & |

Study the following table chart carefully and answer the questions given below : (Q. 91-95)

The following table shows the discount % given by different stores on different books.
The marked price of every book on all stores are same.

TEF/Books GhH/Stores
1 | 2| 3 | 4
A 14% 25% | 18%
B 16% | 14% | 10%
C 12% 10%
D 6% | 9%
91. M 2 3R 3 H q&Ih B 1 3Hq 56 T3 % 594 8 | G 2 H q&Ih B 1 foshdl god
CRIE

The average selling price of book B in store 2 and 3 is ¥ 594. What is the selling price
of book B in store 2 ?

¥ 580.5

92. M | T G A I f05h Ted 3957 3R GhM 2 3R 3 1 T et ol 3 R 36.825 %,
Teh™ 2 H v e o wfea @ ¢
The selling price of book A in store 1 is ¥ 395 and difference of selling price in store 2
and 3 is ¥ 36.825. What is the approx. discount percentage in store 2 ?

16.98%

93. TohdTel A SR W GHM 1 &1 10% 1 ATH BT & | IE Tefsh T g 3 GIU ST fofart T
ITHTG AT /7T Sfcrerd 91 & 2 (Fehaad quTieh eh quTiehd o |)
By selling book A store 1 makes a profit of 10%. What is the approximate profit/loss percent

incurred by store 3 on the same book ? (Round off to nearest integer)
4%
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94. M 2 3R 3 W gKieh D 1 376d o G % 1,480 2 | G&ieh D 1 3HTohd Yo FT & 7
The average selling price of book D in store 2 and 3 is I 1,480. What is the marked
price of book D ?
¥ 1,600
95. QM 1 3R 2 H I&fh C 9L P NieTd ol 30U 3: 2 7 | Ale R 1 T Tk qed 12207, Al

g 2 1 forska e e fepa @ 2

Ratio of discount percentage on book C in store 1 and 2 1s 3 : 2. If selling price in store
1 is ¥ 220, then what is the approx. selling price in store 2 ?

3230

Frfefaa STHeRI o1 SyE® STe i 3R i feT T 391 & ST : (. 96-100)

Fratafga aifetert 5 7&HT & fow 3 afem & ®F faa (P), feoieht foet (B) 3R a6 foe

(W) = Terei <t fsr (T ) gt 2
Study the following information carefully and answer the questions given below : (Q. 96-100)

The following table shows the amount of bills (in ) of 3 families, Phone bills (P), Electricity

bills (E) and Water bills (W) for 5 months :

qREAR X / qRER Y / qER Z /
& e/
Family X Family Y Family Z
Month Total
P E w P E \W4 P E W
]
1400{1000| 550 | 1000 800 [1500{2500({1000(|11250
Jan.
L/
1400({1100| 600 |1200|1600| 500 {1350 950 {10100
Feb.
T/
1500( 600 | 300 |1250| 400 1200{2400| 250 | 8500
March
e/
2500( 950 [1500(1600| 500 | 1500 1250 350 {11400
April
g
1100{1500({1200(1400|1150| 800 | 9450
May
i
F 8050|4100 3350(50700
Total

96.

et 1 ferteflt X wam 31feres Tl &1 YA s aret uiEr & B et 3 fasreft foet w
T <1 T8 ot T 6 i ST 7 7

What is the ratio between the total amount paid on Phone bills and Electricity bills for the
family who is paying the highest amount in January on Electricity ?

335: 435
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97.

ANER X R T 3 Torel ox T ht 71 Jiterd Ui aRar Y gRy ar < foreli o e
61 TTE 3fta Ui § ferat sifereh /A & 7

The average amount paid on Water bills by family ‘X’ is how much more/less than the
average amount paid by family Y’ on Water bills ?

210

98.

gfEr ‘Y’ gRI %M forett W yram <6t € ufdn, fou e udat § 3ueht fasret faett wgram Hr
TS TS & v fepam wferera atferes 2 2

The amount paid on Phone bills by family Y’ is approximately more than what percent
by its amount paid on Electricity bills over the given months ?

12%

99.

TS HeH o fo7e feu 7w 3ifehel & STER S weH # 9iEr ‘X’ grl %M @i fod, fasef @
foe SR o 1 foret o s 61 T8 T H 12%, 16% 3R 25% Hi Jfg g off | S
H 35k <A1 feretl TR AT <hl TS et TR AT AT |

Given that the amount paid on Phone bill, Electricity bill and Water bill by family ‘X’

in the month of June was increased by 12%, 16% and 25% as per the data given for the
month of May. Find its total amount paid on all the three bills in the month of June.

2672

100.

wad O1g § o aiErt grr festelt el w yram Y 18 ot Uiy 3R 3t g | At
TRERT g B ferett o JiTdTE < 715 et T b s fehar St g 2
What is the difference between the total amount paid on Electricity bills by all three families

in the month of February and the total amount paid on Phone bills by all three families in the
month of April ?

1250
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